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Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed
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Guidance

1. Read each guestion carefully before you begin answering it.
2. Don'’t spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings
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1.

Two bags, 1 and 2, each contain three counters that are equal size.

Bag ! Bag 2

in bag 1, the counters are labelled 1, 2 and 3.

In bag 2, the counters are labelled 1, 2 and 4.

A counter is drawn at random from bag 1 and a counter is drawn at random from
bag 2.

The two numbers are added together to give a score.

(a) Complete the table to show all possible scores.

Bag 1

Bag 2

2

3.
15
6

45 Ny ea] +
AR L

(1)
(b) Find the probability of scoring a 4
o
............ A
(1)
(¢) Find the probability of less than 5
5
9
(2)
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2. Two fair six sided dice are rolled.

The numbers on the two dice are multiplied together to give a score.

(a) Complete the table to show all possible scores.

Dice 1
X1 2 3 4 5 6
1118314951/
21 2| 4]6 |6 [lo]a
Sice2 3 1316 1 41ais|ig
4141 112|762 2k
515 |10]15(20] 25|30
6| (|iz1g | 24| %026
(2)
(b) Find the probability of a score of 12 Cf
4 L
. A
(1)
(c) Find the probability of a score of 10 or more
i
26
""""""""""" (@)
(d) Find the probability of an even number
27 3
o .
(2)
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3. Jordan is playing a game with a fair four sectioned spinner and a fair coin.

He spins the spinner and flips the coin.

If the coin lands on heads, his score is one more than the number on the

spinner.

If the coin lands on tails, his score is the number on the spinner doubled.

(a) Complete the table to show all the possible shows that Jordan can get.

Spinner
1 2 3 4
| L |5
Coin Heads 2, 3 Lt
Tails a Lr é . g

(b) Write down the probability that Jordan gets a score of

() 4 2
g

(i) 5 ormore

(iii) & prime number

o\
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4, Two fair spinners are spun.

Spinner 1 has four equal sections labelled 1, 3, 4 and 5.
Spinner 2 has three equal sections labelled 5, 6 and 7.

1
4 5
3
Spinner 1

Each spinner is spun once.
The numbers are added together to get a score.

Spinner 2

(a) Complete the table to show all possible scores.

{(b) Find the probability of scoring a 8

Spinner 2

Spinner 1

3.4|5

319110
q

1
L.
7
.

6 10|11
71800
=
Pl

(c) Find the probability of scoring an odd number
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5. Two bags, 1 and 2, each contain counters that are equal size.

Bag 1 Bag 2

Bag 1 contains a pink counter, green counter and yellow counter.

Bag 2 contains counters labelled 2, 3, 4 and 5.

A counter is drawn at random from bag 1 and a counter is drawn at random from
bag 2.

If the counter from bag 1 is pink, the number on the counter from bag 2 is
doubled.

If the counter from bag 1 is green, one is added to the number on the counter
from bag 2

If the counter from Bag 1 is yellow, the number on the counter from bag 2 stays
the same,

(a) Complete the table to show all possible scores.

Bag 1
P&
G173
(G
Z19
0176

Bag 2

W | @R |

O e oy N

(2)

(b) Find the probability of scoring a multiple of 3
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6. Phil uses two fair spinner in a game,

Spinner 1 Spinner 2

He spins both spinners.
His score is the two numbers multiplied together.

(a) Complete the table to show all possible scores.

Spinner 1
213
217

<o

O W = X
OO IO

Spinner 2 614

0|18
(2)

Phil says the probability that he gets an even score is 12

(b} Explain why Phil is incorrect.
é z
. /

.......... Tle... wgeg;/gﬁfﬁ"'\f”@”“qw?
...... TN - T NS < 2
(2)
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7. Two fair six-sided dice are rolled.
The score is difference between the numbers on each dice.

(a) Complete the table to show all possible scores.

Dice 1

3 4
|3
ok

Dice 2

Ql— | RS o

— | Q| —~ || |0

PO -

Oy O B W N

(b) Find the probability of scoring a 2

g 2
/4’ I &" 7
% g9 ,
&
.................... (1)
(c) Find the probability of scoring a number less than 3
L
el o
O =
(2)
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The dice is rolled twice.

A fair dice is numbered from 1 to 6.

(a) Draw a sample space diagram to show the possible outcomes.

., |

e .

| ' z 3 & s ¢
I Y /L B Y R YN 7Y
2,z e Bt wro L6

ST DTV R/ B S L

0!(@1 ’
gl e 2y vy b e b
5 fjs IJS Z,s {fb/sm 5/5’ (’Jéf
A AR TS

(2)

(b) Work out the probability that the number obtained on the first roll is more
than double the score on the second roll.

N\

§
STR

-------------------------
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9. James has organised a game to raise money for charity at a local fair.
He rolls a fair six sided dice and flips a fair coin.

If the coin lands on heads, the number on the dice is squared.
If the coin lands on tails, the number on the dice is cubed.

Each person pays 50p to play.

If they score above 30, they win £1

The game is played 450 times.

How much money does James raise for charity?

|1 o4 9 é
il 4 9 noas 3

g g7 44 s
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